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1. Risolvi: 
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Calcola il valore delle seguenti espressioni: 

2. 3√3	$√3 + 2% − √3	$1 + 3√3% = 9 + 6	√3 − √3 − 9 = �√� 

 

3. $√−2� %� + $√2 − √7%$√2 + √7% + $2√2 − 3%� − $√2" %1 = −2 + 2 − 7 + 8 + 9 − 12√2 − 2 = 9 − 
(√( 

 

4. :#$1 + √5%�� + #$√5 − 4%1" ;� : <$√29 − 2%$√29 + 2%= = $1 + √5 + 4 − √5%�: �29 − 4� = 5�: 25 = 
 

 

5. >$√13 + 1%� − $3 − √13%� + $√2� %5&?:	 ��−13��" = <13 + 1 + 2√13 − $9 + 13 − 6√13% + 2�=: √13 = &√5�√5� = 9 

 

6. $√@ + 2%$√@ − 2% + ��@ + 4�� = @ − 4 + @ + 4 = (A															B. C. : @ ≥ 0 
 

7. √27� + √3 ∶ √3 − $1 − 2√3%� + $3√2 − √6%$3√2 + √6% = 

= �3�� + 1 − $1 + 12 − 4√3% + 18 − 6 = √3 + 4√3 = �√� 
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Disponi in ordine crescente i radicali dei seguenti gruppi: 

8. √5;	 √3" ; 	 √2�F = 2																		√5�" ; 	 √3" ; 	 √21" 																												√�G < √9� < √� 

9. √2;	 √8� = √2;	 √8' 																	√21' ; 	 √21' ; 	 √2�' 																										√99 < √( = √9�
 


